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Math 251 Fall 2017 Quiz #2, September 6

Name: SOlU"'I on 8

There are 25 points possible on this quiz. This is a closed book quiz. Calculators and notes are not
allowed. Please show all of your work! If you have any questions, please raise your hand.

Exercise 1. (9 pts.) Use the graph of the function of f(z) to answer the following questions.

d
oo Y

L dim @)=~ L 2. lm f(x) = DNE 3. lim fo) = O
4 fes) = D 5. fo)=_ 4 6. f(6)= O
7. xl_i)réli flz) = | 8. Il_i)r(r)lJr flz) = 6 9. xli,r?Jr flz) = o9

Exercise 2. (5 pts.) Evaluate the limit below and justify your answer. Note: The 5 points for this
problem are distributed as: 1 point for the correct answer, 4pointsforaclearly writtenjustification
using complete sentences.
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As x approaches 2 from above , 2-x apprmaches 3er but is

)
neﬁod—\w.. The numerator approaches 214. 3= 7, a pesitive
nomzere number. So +he 1uo-l-ien+ is unbounded . T3 Sigh
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Exercise 3. (6 pts.) The position of a car is given by values in the table below. Includeunitsin your

answers. ,———g\l

t(seconds) |0 | 1 | 2 | 3 4 5
s (feet) 011 (3270|119 | 179

(a.) Find the average velocity of the car over the time interval [1, 2].

averaqe  AS  32-N
w.aés = o o Al Ffsee

(b.) Find the average velocity of the car over the time interval [2, 3].

averaqe  As Fo-R_39_ 39 f4
Vdocié\s T AL ’g.—z—' ) 3 /Seo

(c.) Give a rough estimate of the instantaneous velocity at t = 2.
aversat Hhe 84
; 2l _59.
V&\DC?"" LS = 3_‘_— = .i’ - ZQ. 5 ‘c%ac
on left< 2

N 3‘\{
(r+2)? if < -2
Exercise 4. (5 pts.) On the axes below, sketch the graph of the function f(z) = %x +1 if —2<zx<4

|z —6| if 4 <ux.

Use the graph to determine the values of a for which liin f(z) doesmotexist and, for each a-value,

justify your answer.

a-value justification

=4 | The lofk and right-
hand limi+s are
olifferent .
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